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Problem quickname: 8100

1)
Calculate the result.

a) 042 +7 b) 0.89 = 1.78 c) 0.33+3 d) 0.11 = 2.75
e) 0.63 =7 f) 0.65 =+ 2.5 g) 0.82 =2 h) 0.46 = 4.6
i) 0.34 +6.8 j) 0.42 =3

2)
Calculate the result.

a) 185.3 + 2 b) 366.3 = 2.2 ¢) 627.9 = 2.8 d) 745.2 + 4

e) 268.4 = 5.5 f) 713.6 = 1 g) 469.7 + 1.22 h) 752.4 + 4.95
i) 554.3 + 2 i) 135.6 = 6.78

3)

Calculate the result.

a) 635.6 = 17.5 b) 888.3 + 17.5 ¢) 873.2 + 20 d) 844.9 + 99.4
e) 447.3 =+ 70 £) 429.6 = 80 g) 644.4 = 15 h) 764.1 <+ 90
i) 833.7 35 j) 163.8 + 36.4

4)

Calculate the result.

a) 8.738 + 873.8 b) 6.143 = 614.3 ¢) 5.475 + 273.75
d) 6.819 + 136.38 e) 2.847 = 284.7 £) 4.214 + 421.4
g) 8.782 = 219.55 h) 6.566 + 131.32 i) 6.138 = 204.6
i) 4.399 = 439.9

Good Luck!
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